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1. (A) Explain the concept of Average cost and Marginal cost. Discuss their relationship. 14
OR )
Explain the Average Revenue and Marginal Revenue in monopoly market.
(B) Multiple Choice Question. 4
(1) Which cost is not connected with out put in the short run ?
(A) Total fixed cost (B) Total cost '
(C) Total variable cost (D) Marginal cost
(2) What is the nature of total variable cost curve ?
(A) Positively sloped (B) Negatively sloped
(C) Parallel to x-axis (D)  Parallel to y-axis
(3) Which cost curve is horizontal ?
(A) Total costcurve - (B) Total fixed cost curve

2 @

(B)

MT-113

(C) Total variable cost curve (D) Marginal cost curve
(4) Average fixed cost + Average variable cost =

(A) Total cost (B) Total fixed cost

(C) Average cost (D) Marginal cost

. What is Perfect competition ? Discuss the characteristics of perfec:l competition. 14

OR ,
Explain the shoft term equilibrium of the firm in perfect competition.
Multiple Choice Question : 4
(1)  From the following in which market firm has to act as a price taker ?
(A) Monopolistic competition  (B) Perfect competition

(C) Monopoly » (D) Oligopoly
(2) How is the curve of average revenue in perfect competition market ?
(A) Parallel to y-axis (B) Parallel to x-axis
(C) Negative slope (D) Positive slope
(3) After how much expense a firm can keep production even in loss ?
(A) Average fixed cost (B) Average variable cost
(C) Average cost (D) Fixed cost
3 ‘ P.T.O.
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(4)  In which time period, number of firms are not changed ?

(A) Very Long term (B) Long term
(C) Short term | : (D) Medium term
3. (A) Whatis meant by Monopoly ? Describe its features. 14
OR o
Explain the short term and long term equilibrium of the firm in monopolistic
competition.
3

(B) Multiple Choice Question.

(1)  From the following in which market question of equilibrium of an industry
is not arise ?

(A) Perfect competition (B) Monopolistic competition
(C) Monopoly (D) Imperfect competition
(2) How is the demand curve of monopolist firm ? :
(A) Valueelastic (B) Perfect value elastic
(C) Value unelastic l (D) Perfect value unelastic
(3) Inwhich market firm has control over price or the goods ? :
(A) Perfect competition " (B) Monopolistic competition
(C) Oligopoly (D) Monopoly
4,  (A) Explain the marginal productivity thedry of distribution with its limitations. 14
-~ OR ,
Explain the Modern theory of Rent. . .. R E\ '
(B) Multiple Choice Question. A TPC IO | PSLLY SO TH 2 s 3

(1)  As per marginal productivity theory of distribution, which type of return is
obtained in long run ?

(A) More than marginal productivity N
(B) Less than marginal productivity ‘
(C) Equal to average productivity
(D) Equal to marginal productivity
"(2) When the factor supply equal to rent ?

V'

‘:‘ . ."_‘ )

(A) Completely elastic (B) Value elastic
(C) Value inelastic (D) Completely inelastic
(3) Which factor of production gets rent ?
(A) Luabour (B) Entreprencur
(C) Capital ' (D) Land
MT-113 . 4
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1. (A) Explain the concept of GDP and NDP 14
OR "
Explain the measurement of National iricome with its difficulties.
(B) Multiple Choice Question. | 4
(1)  Share of which sector is’decreasling in GDP with economic development ?
(A) Primary -~ “"(B) Industry
(C) Service (D) Industry a'nci Service
2) In startinglof{[')‘lannil_llg, which sector was first in GDP ?
(A) Agriculture (B) Industry
(C) Service | - (D) None '™
(3) How many side of National Income has ? .
(A) Three o (B) One
(C) Two (D) None
(4) Since 1954 in India, who give all data of National IncR_rpe ?
(A) CSO (B) Reserve Bank
(C) Planning Commission (D) Finance Dep;inment ’
2. (A) Whatis Money ? Disg;ﬁs_s the f{;ﬁctions of Money. 14
0): '
Explain quantity theory of Money. )
(B) Multiple Choice Question. . 4
(n in the fourth stage of evolution of money, which money was seen ?
(A) Commodity (B) Bank
(C) Metal 7 (D) Paper
(2) Which money is known as narrow money in India ?
(A) M, (B) M,
_ € M, (D) M,
MT-113 : 7 P.T.0.
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(3)  Who has sign on currency note of T 2 or more than ¥ 2inIndia?
(A) Prime Minister (B) RBI Gavernor
(C) Finance Minister (D) Home Minister

{(4)  Which economisi-has given more importance to speculative purpose of
demand of money froni the following 7

(A) Fisher (B) Keynes
(CY Friedman (D) Baumol
3. {A) “Explain the J1.B. Say's law of Market. 14
OR
Explain the concept of consumption function.
(B) Multiple Cheice Question. 3
(1) Who has presented the law that supply creates its own demand ?
{A) Pigon ' (B) Keynes
{C) 1B. Say (D) Friedman

(2) “Which fubtion show< the relation between total national income and total

consumptibn expénditure ?

{A) Demiand function (B) Investment function
; (C) Consumption function (D) Production function
(2} "Whao has given the Concept of employment: Multiplier ?
{A) Keynes (B) Pigou
(C) R.JF. Khan (D) Hicks
4, (A) Whatis meahi‘b;—iﬁusincss Cycle ? Explain it’s féatures. ' 14
“or
What is Inflation ? Discuss the types of inflation.
(B) Multiple Chéice Question, 3
(1)  Which'type of fluetiation is known as trade cycle in an economy ?
(A) Seasonal (B) Long term
(C) Casual (D) Cyclical
(2) What is relation between interest rate and price of securities ? .
(A) Co-relation (B) Non-relation |
(C) Uncertain (D) Inverse
(3)  Generally how is the pure interest than gross interest ?
(A) more (B) equal
(C) Uncertain (D) less
MT-113 ‘ 8
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Seat No. @

MU-114

March-2019
B.Com, Sem.-11
CC-108 : Accounting-1I
Time : 2:30 Hours) [Max. Marks : 70
L

(A) From the following information, prepare 12% Central Government Loan Account
in the books of Bhagyashree for the year ending on 31-3-2019: 14

(i)  Opening balance as on 1-4-2018 :
®
Face value of loan  7,50,000
Cost price of loan ~ 7,12,500

Accrued Interest (Y9

(i) Dates of payment of Interest : 30" June and 31* December every year
(Avoid Income tax)

(iii) Transactions during the year:

Date Face Value () | Price }) " Remarks
1-8-2018 7,50,000 96 Cum-interest purchase
1-9-2018 4,50,000 95 Ex-interest sale
1-12-2018 6,00,000 97 Ex-interest purchase
28-2-2019 |  3,75,000 101 | Cum-interest sale

(iv) Brokerage is calculated @ 1% on market value of every transaction of
purchase and sale.

(v) Valuation of closing balance of investment is to be calculated as per ‘First
in First out’ (FTFO) method.

OR

MU-114 9 P.T.O.
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(B)

MU-114

¢))

2

Mr. Hemil had 12% Govemnment Securities on which interest paid on 30™
June and 31% December every year. 1% brokerage is calculated on every
transaction of purchase and sale. From the following details, find out face

value and capital value of security : 7
Date Price (?) Brokerage Remarks
1-6-2018 104 832 Cum-interest purchase
1-10-2018 106 530 | Ex-interest sale
Also write journal entries for above transactions in the books of Mr. Hemil.
Write a short note on : (any Two) 7
()  Ex-interest and Cum-interest transactions
(i) Face value and Capital value.
(iii) FIFO and LIFO methods of valuing closing stock in case of
investments.
(iv) Brokerage on purchase and sale of Investments.
For each of the following sub-questions, select most appropriate answer from the
4

given alternatives : (attempt any Four)

)

()

3

@

Brokerage on purchase of Investments will

@

increases the total purchase price

(b) decrease the total purchase price
have no effect on total purchase price

(©

Cost of investment includes
1§ J 3]

@ Stampduty

(c) Both (a) and (b)
The capital value of investments in case of Ex-interest purchase (subject to
Brokerage) means :
Purchase price — Interest + Brokerage

(@)
(b)
(c)

CY)

(b) Brokerage

(d) None of the above

Market price on the date of purchase

Purchase price + Interest + Brokerage
None of the above

(a) Market value of security

(©

Sales value of security

10

Interest on security is calculated on

P AAGT K

% g ,;l--' l'.
(b)  Purchase price of security

(d)  Face value of security
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{5} On 1-7-2018. Mihan purchased 12% debentures of ¥ 1,80,000 for
T 2.20000. He pand brokerage at 1% on purchase price. Dates of payment
of interest are 30™ June and 31 December every year.

In this case, the capital value of debentures purchased would be
(a) 72,323,000 (b) T1.92,600
{cy T222.200 (d) ¥2.35.200

(6) While selling securities, brokerage is generally calculated on following

price

{a) Book value

(b) Sales value

(¢} Average of sales value and face value

(d) None of the above

{(A) Shreyansh has purchased a Motorcar on hirc-purc}iase system from Active
14

Amtomobiles on 1+4-2815 Detasls of the contract are as under :
T 200000 puid on 1-4-2018 o signing the contract.

(@)
(b} The balunce mnount is payable in four annual instalments as under :
L9

First instalment on 31-3.2016 3,20,000

Second installment on 31-3-2017 (7)

Third instaliment on 51-3-2018 1,60,000

Fourth installment on 31-3-2019 96,000
{c) Inerestis 1o be paid at 20% per annum on reﬁiﬁihing balance of cash price.
(d) Moitor car is to be depreciated at 10% peri%“ﬁﬁhﬁby diminishing balance

method.
Accounting year of both the parties ends on 31% March every year.

(e)
On 31-3-2017 the following journal entry is passed in the books of

()
Shreyansh :

Profit & Loss Account Dr. 1,532,000

To Interest on Motor Car 80,000
To Depreciation on Motor Car 72,000
Prepare : In the books of Shreyansh |
(i) - Motor car Account
(i) Active Automobiles Account
OR : |
i P.T.0.
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(1) Bhashit purchased a second-hand Honda Car from Nehia Motors on 1-1-
2018 on hire-purchase method. He had paid following amount towands the
purduw of car

vy
¥

o o it __......-44»9-4 e S s e P SR TR et P

{f‘m - 1-1-2018 { 10-4-2018 ; 1]- x.*m‘a H »i !3 JOH |
A

4

oot it i e s g

1.78.000 | 1.30 mm if mm

e VP T SR

mount paid (X) | 10% cash price

e

Instalments include interest at the rate of 15% per annum. [)c‘i‘“‘“““““ s o
be charged at the rate of 20% per annum.

From the above information prepare in the books of Bashit :
(i)  Honda Car Account and
(if) Neha Motors Account
(2)  Write short note on : (any Two) 7
(1)  Difference between Hire-purchase and Instalment System
(2)  *Hire-purchase System is not sale® - Discuss.

(3) In connection with Hire-purchase, explain : *Cash Price’, ‘Down
Payment’ and ‘Contract Price’.

(B) For cach of the following sub-questions, select most appropriate answer from the
given alternatives. : (attemp any Four) 4

(1) Which of the following statement is correct ?

(a)  In hire-purchase system, depreciation is calculated on market price of
asset purchased.

(b) In hire purchase system, depreciation is calculated on last instalment
of asset purchased.

(¢) In hire-purchase system, depreciation is calculated on contract price
of asset purchased.

(d) In hire-purchase system, depreciation is calculated on cash price of
asset purchased.

(2) Which of the following statement is correct ?

(@)  In hire-purchased system, the interest is calculated on each instalment
on opening balance of assets.

(b)  In hire-purchased system. the interest is caleulated on each instalment
On contract price.

(¢) In hire-purchased system, the interest is calculated on each instalment

on the outstanding case price. Ce
{d) In hire-purchased svstem, the interest is caiﬂuim o5t each instalment
on the cutstanding contract price.
MU-114 ‘ 12
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(3) Paid ¥ 4,200 at the time of contact. Four annual instalments were paid
respectively ¥ 4,680, ¥ 3,720, ¥ 2.620 and ¥ 1.980 per annum. rate of
interest was 10%. Find out cash price of machine.

(@ 13,200 (b) ¥ 15.000
(c) T 17400 . (d) ¥8.880

(4)  Srujal has purchased one machine on hire-purchase agreement. Cash price

of the machine is ¥ 1,80,000. The amount is to be paid on agreement

% 60,000 and the balance amount is paid by three equal annual installment
of T 30.000 each. Find out the amount of interest included in the instalment

of second year.
(@ 60,000 (b) ¥ 10,000
(c) ¥20,000 @ 30,000
(5) At the end of the year, the interest paid and depreciation charged are

transferred to which account ?
(a) Asset Account (b) Profit & Loss Account
(c) Purchaser’s Account ‘ (d) Seller’s Account

(6) Which of the following is not included in the hire-purchase agreement ?
(@) Number of installment (b) Method of depreciation

(¢) Installment amount (d) Interest rate

3. (A) Rajviand Rupal entered into a joint venture as dealg;}_i(ril_land - 14

They decided to share profit & loss in the ratio.of 312 respectivelty.
They deposited T 30 lakhs in their Joint Bank A/c as per their profit sharing ratio.They

purchased 15,000 Square metre land at T 150 per square metre, money for which were
paid from Joint Bank A/c. From Joint Bank A/c, they paid following expenses :

P ' ®)
- Land levelling expenses 60,000
Municipal taxes 25,000

Registration, Stamp!duty and Lawyer’s fees — ¥ 45,000.

Income from selling of timber deposited of Joint Bank A/c -3 40,000.

Rajvi paid ¥ 36,0"0'0 as expenses of compound wall from her personal account.
Rupal paid ¥ 24,000 as architect fees from her personal account.

MU-114 13 P.T.O.
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A and
They prepared a plan for selling the plot of land. In the said plan 10%.(’{ 'hil md
left over for public roads, another 10% of the land left over for public park an

remaining 80% land was divided into 40 plots of equal size.

0
Milan sold 60% plots, each for cash at 50% profit on cost. Shreyansh sold 30%

plots, each for cash at 60% profit on cost. Transactions regarding sale of plots are

done through Joint Bank Account.
Rajvi and Rupal took over remaining plots équally at cost price.
Milan and Shreyansh are entitiled to get 5% commission on their respective sales.

Prepare following accounts from the above information assuming that accounts

have been settled among the partners.
(i) Joint Venture Account
(i) Joint Bank Account
(iii) Partners Account
OR

(1) Manan and Megha entered into a Joint Venture with a condition to share
profit and losses in the proportion of 3 : 2. Each will receive 5%

commission on the proceeds of sales made by her/him. 7
Manan purchased goods of ¥ 4,00,000 in cash.

Other transactions relating to the venture were as follows :

Partiqula?sii lIPaid by Manan (X) | Paid by Megha (%)
Carrioge 4,000 =
Travelling Expenses 3,000 ; 3,000
Sundry Expenses - 7,200 ~ 6,000
Goods sold on cash 3,00,000 2,72.000

Unsold stock of ¥ 40,000 was taken over by Manan at 15% profit. Both the
co-ventures settled their accounts. |

From the above particulérs, prepare in the books ‘of Manan :

(i)  Joint Venture Account A ro

(ii) Megha’s Account

MU-114 ' 4
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4. (A) Whatis Tally Software ? Explain special features of “Tally Software 7.2” version.
Also describe the usefulness of computers in accounting.

OR
(1)  Write short notes on : (any Two)
(i) Computer L;mguage
(i) Hardware and Software g
(iii) Limitations of Computer ‘

(iv) According to 7.2 Tally version, give details about creating a new
company.

14

(2) Attempt any one from the following : ) 7
" () Discuss Accounting Information System V/s Management
Information System.
(i) How will you select best software for business from available various
accounting softwares ?
(B) For each of the following sub-questions, select most appropriate answer from the
given alternatives : (attempt any Three) 3

(1)  For payment to the creditor regarding with purchase of goods, which of the
following key hasto be pressed in ‘Tally Software’ ?

(@ F7 , (b) F11
- (¢) F5 (d F2 _
(2) For changing date in.‘Tally’, which of the following key has to be pressed ?
(@) F6 (b) F8
(© FI12 .4, @ F2

(3) When ¢ptry. for;an‘adjustment is to be made, which of the following key
must be, pressegdyin [ Tally’ ?

(@ Fi12 (b) F2
(& F1 - F6
(4)  If details of Balance Sheet and Profit & Loss A/erare to be seen in ‘Tally’,
which of the following key must be pressed ?

(a) Fl11 (®) Ctl+F2
() Alt+Fl« d) Fi12
(5) In ‘Tally’, which function ‘key’ is used to repeat:the narration of previous
voucher ? -
@ Alt+D (b) F4ep
() Ctrl+C (d) None of the above
‘MU-114 , 16
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